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 BGYCT-135  

BACHELOR OF SCIENCE (GENERAL) 

(BSCG)  

Term-End Examination 

June, 2022 

 

BGYCT-135 : PETROLOGY 

Time : 2 hours Maximum Marks : 50 

Note : All questions are compulsory. Marks allotted  

for each question are indicated against it. Draw 

well-labelled diagrams, wherever required. 

 

1. Briefly answer any five questions of the  

following : 52=10 

(a) Define skewness.   

(b) Distinguish between holocrystalline and 

holohyaline textures.  

(c) Define essential and accessory minerals.  

(d) Define phase diagram.  

(e) List the processes of magmatic 

differentiation involved in the solid state of 

magma.  
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(f) List four intermediate rocks.   

(g) Define sediment.  

(h) What is diagenesis ? 

(i) Distinguish between clastic and non-clastic 

rocks.   

(j) Distinguish between allogenic and authigenic 

minerals.  

2. Write short notes on any four of the  

following : 45=20 

(a) Granularity  

(b) Tabular Classification  

(c) Intergrowth Texture  

(d) Alkali-Lime Index  

(e) Major Types of Magma  

(f) Importance of Bowen’s Reaction Series  

(g) Ripple Marks   

(h) Schistosity   

3. Answer any one of the following : 110=10 

(a) Discuss briefly the forms found in igneous 

rocks with the help of neat well-labelled 

diagrams.  

(b) Describe the megascopic and microscopic 

characters of gabbro.  
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4. (a) Write in brief about the kinds of 

sedimentary particles.  5 

(b) Explain the reactions taking place during 

chemical weathering in rocks.  5 

 OR 

(a) Discuss in brief five structures found in 

igneous rocks.  5 

(b) How will you identify granite in hand 

specimen ? 5 
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 ~r.Or.dmB©.gr.Q>r.-135  

{dkmZ ñZmVH$ (gm_mÝ`) 
(~r.Eg.gr.Or.) 

gÌm§V narjm 

OyZ,  2022 

 

~r.Or.dmB©.gr.Q>r.-135 : e¡b{dkmZ 

g_` : 2 KÊQ>o  A{YH$V_ A§H$ : 50 

ZmoQ> :  g^r àíZ A{Zdm`© h¢ & àË`oH$ àíZ Ho$ A§H$ CgHo$ gm_Zo {XE 

JE h¢ & Ohm± Amdí`H$ hmo, gwZm_m§{H$V AmaoI ~ZmBE & 

 

1. {ZåZ{b{IV _| go {H$Ýht nm±M  àíZm| Ho$ CÎma g§jon _| 
Xr{OE : 52=10 

(H$) d¡få`Vm H$mo n[a^m{fV H$s{OE &  

(I) nyU©{H«$ñQ>br VWm nyU©H$m{MH$ JR>Z _| A§Va ñnîQ> 

H$s{OE & 

(J) A{Zdm`© Am¡a Jm¡U I{ZOm| H$mo n[a^m{fV H$s{OE &  

(K) àmdñWm AmaoI H$mo n[a^m{fV H$s{OE &  

(L>) _¡½_m H$s R>mog AdñWm _| gpå_{bV hmoZo dmbo _¡½_r` 

{d^oXZ Ho$ àH«$_m| H$s gyMr ~ZmBE &  
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(M) Mma _Ü`{g{bH$ e¡bm| H$s gyMr ~ZmBE &  

(N>) AdgmX H$mo n[a^m{fV H$s{OE &  

(O) àg§KZZ Š`m h¡ ?  

(P) I§S>O VWm AI§S>O e¡bm| _| A§Va ñnîQ> H$s{OE &  

(Äm) AÝ`ÌO{ZH$ VWm VÌO{ZH$ I{ZOm| _| A§Va ñnîQ> 
H$s{OE &  

2. {ZåZ{b{IV _| go {H$Ýht Mma   na g§{jßV {Q>ßn{U`m± 
{b{IE : 45=20 

(H$) H${UH$m_`Vm  

(I) gmaUr` dJuH$aU 

(J) AÝVad¥{Õ JR>Z 

(K) jma-MyZm gyMH$m§H$ 

(S>) _¡½_m Ho$ à_wI àH$ma 

(M) ~m°doZ A{^{H«$`m ûm¥§Ibm H$m _hÎd 

(N>) D${_©H$m {M• 

(O) {eñQ>m^Vm  

3. {ZåZ{b{IV _| go {H$gr EH$  H$m CÎma Xr{OE : 110=10 

(H$) Am½Zo` e¡bm| _| nmE OmZo dmbo g§ê$nm| H$s ñdÀN> 
gwZm_m§{H$V AmaoIm| H$s ghm`Vm go g§jon _| MMm© 
H$s{OE & 

(I) J¡~«mo Ho$ ñWyb VWm gyú_Xeu bjUm| H$m dU©Z  
H$s{OE & 
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4. (H$) AdgmXr H$Um| Ho$ àH$mam| Ho$ ~mao _| g§jon _| {b{IE & 5 

(I) e¡bm| _| hmoZo dmbo amgm`{ZH$ Anj` H$s 

A{^{H«$`mAm| H$mo g_PmBE &  5 

 AWdm 

(H$) Am½Zo` e¡bm| _| nm`r OmZo dmbr nm±M g§aMZmAm| H$s 

g§jon _| MMm© H$s{OE &  5 

(I) Amn J«¡ZmBQ> H$mo hñV à{VXe© _| H¡$go nhMmZ|Jo ?  5 


